Circuit with no
series or parallel
resistors.

We don't do
these.




Simplifying Complex Circuits

ldentify nodes, common nodes, branches,
& shorts

If a branch has more than one resistor,
replace with R, redraw circuit

If there are parallel resistors (nothing but
one resistor in each branch), replace with
Ry & redraw circulit.

Stop when you get to a single resistance.



Simplifying Complex Circuits

* Work back up diagrams

* If current resistor is a Series replacement,
each resistor has same current. Use V =
IR to get voltage for each.

* If current resistor is a Parallel
replacement, each resistor has same
voltage. Use | = V/R to get current for
each.



(b) Rebuild the circuit <

36V
600 0
— 6 mA -———__;
30m f} —>=9mA _{—
+ 400 O
—— 560 §
12V—7 36V 8.4\
= y 15 mA 15 mA
/
800 2
12V

(b) Rebuild the circuit <

400 2
12V

l

30 mA




0.10A, 11V 9% 4 13/470 A, 22*13/47 V 1102,

. —A\WW—1
220 Q
+124YV + |24V
== 180 O - 180 Q <470Q
250 Q
13V, 13/180A T—; 13/470 A, 25*13/47 V ]
(a)
0.10A 11 Vioe / 13V, 13/470A 107 4
t__za K /g 180 Q %470 Q i-—zd ! % 130 Q
13V, 13/470 A r ’ - ’
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—A\\\\—e
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S 1300 = 200 24V, 0.10 A
0.10A, 13V
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